Corner Brook Intermediate Math 9

Unit 7: Similarity and Transformations Name:

7.4 Similar Triangles — Notes

A triangle is a special polygon. When we check whether two triangles are similar:
1. the measures of corresponding angles must be equal; OR

2. the ratio of the lengths of corresponding sides must be equal.
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These triangles are similar because:
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When we name two similar triangles,
we order the letters to match corresponding angles.

We write: A“%C (g% AQRP

Then we can identify corresponding sides:
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Example (1): Identify the similar triangles. Justify your answer. .
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Example (2): At a certain time of day, a person who is 1.8 m tall has a shadow 1.3 m long.
At the same time, the shadow of a totem pole is 6 m long. The sun’s rays intersect the
ground at equal angles. How tall is the totem pole, to the nearest tenth of a metre.
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Example (3): A surveyor wants to determine the width of a lake at two points on opposite
sides of the lake. She measures distances and angles on land, then sketches this diagram.

How can the surveyor determine the length HN to the nearest metre?
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Example (4): A surveyor used this scale diagram to determine the width of a river. The
measurements he made and the equal angles are shown. What is the width, AB, to the

nearest tenth of a metre? 2 c& . q
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